Tuesday 30™ June

Hello again Year 6,

We can't believe that it will be July fomorrow. How quickly the
days have flown byl We do hope that you are keeping well and
safe at home and managing to complete your learning as well as
enjoying the time with your families.

Here are the activities for this week. In Maths we're starting
to look at metric units of measure. There's a mixed bag for
English - comprehensions, writing, SPaG and some art too.

We've popped in a July Active Challenge for you to do and a
lovely Outdoor Learning Challenge that you can continue until you
are 112! We're learning about '‘bouncebackability’ in PSHE to
help with your move to high school.

If you have some spare time or want to do some extra learning,
you could visit https://www.bbc.co.uk/bitesize or
https://www.thenational.academy/online-classroom where there
are lots of lessons and activities to choose from.

As always, try to read for at least 20 minutes a day and take
Accelerated Reader quizzes from home by using this

link Howley Grange Renaissance at home and logging on as usual
using your username and password. To check that the book you

are reading has a quiz, you can check it using on Accelerated
Reader Bookfinder.

Take care and keep smiling,
We do miss you,

Mrs Graham and Mrs North


https://www.bbc.co.uk/bitesize
https://www.thenational.academy/online-classroom
https://ukhosted58.renlearn.co.uk/6702136
https://www.arbookfind.co.uk/

English Activity 2 - Story starter

Use this image and your work from yesterday to write an opening for a
story.

Think about how to hook your reader into the events. Perhaps you could
end your writing with suspense that keeps the reader wanting to read
more.

Use as much imagery and description as you possibly can, whilst
remembering to include a wide range of punctuation and grammar that we
have learnt this year. There is a Year 6 writing mat to help with this.

If you are stuck for an opening sentence, here are a few ideas.......

* No one could ever have predicted it would happen.

* The water lapped against the windows, desperately trying to find a way
in.

« "It's not safe yet to go outside,” explained mum.

« There was only enough food to last another six months.

« Two years earlier, Joe was looking forward fo starting secondary
school.

* Over the past month, the water had been receding steadily.



Writing Mat - working towards writers
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Writing Mat -Expected writers
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Writing Mat - Greater depth writers
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Maths Activity 2a - Ten in ten

1. What is the average
of 2.4 and 7.8?

2. q2=34+|:

3. x=3, y=>5
3y +2x =

4. 25% of 250

1

5. What is 5

1
2
of8.

6. 63 =
7. What number is
halfway between -6 and

47

8. Write this number in
words 34,598

9. 604 +2 =

10. Complete the

sequence.

475, 5, 525| |, [

Remember - ten
questions in ten
minutes.

There's five extra
challenge questions if
you have spare time.

11. Put these numbers
in order, largest first.

9.4, 9.07, 9.256

12. Eddie starts school
8:50am and finishes
school at quarter past
three. How long is the
school day?

13. How many months
are there in a decade?

14. Insert <, > or =

0.078|: 0.08

15. The Council raised
£2014 in 2012 and £1894
in 2013. How much did

they raise in total?

6 R
CLASSROON =7

@ Classroom Secrets Limited 2014



Maths Activity - Metric units of measure

Over the next few weeks we are going to be extending your learning of
units of measure.

Today we are revisiting how to convert between metric units of
measure.

There is a knowledge postcard from yesterday which you can use as a
reminder of past learning and also help with this week's activities.

There are also two posters on the next slides which are a useful
reminder of what you learnt in Year 5.

The format of the questions is the same as last week:

For Activity 2b, the activities are differentiated as follows:

ﬁ (developing) = *
(expected) = * *
(greater depth) = * * *

There are Varied Fluency (VF) questions on the left hand side of the
page. These questions practise the learning. On the right hand side
are Reasoning and Problem Solving (R / PS) questions which apply
your learning.

For the Activity 2¢c, the activities are starred in the same way but
the questions are all VF as they are consolidating your learning.




1km = 1000m
1kg = 1000¢g
1m = 100cm

1cm = 10mm
Tm = 1000mm
1litre = 1000ml
1¢ =1000mg
kilo (1000)
cent (100)
milli (/1000




Metric units

1000
+—> :
) 4 b 4
b4

o|e

1000

‘L:’u
—

1000 kg = 1 Tonne

+ 1000
X 1000 X
UNIT decreases, NUMBER increases UNIT increases, NUMBER decreases
7kg = 7 x 1000 = 7000g 30cm =30 = 100 = 0.3m
4.5 = 4.5 x 100 = 450cl 600g = 600 + 1000 = 0.6kg
8.6cm = 8.6 x 10 = 86mm 58mm =58 + 10 = 5.8cm
3m = 3 x 1000 = 3000mm 650mm = 650 + 1000 = 0.65m

© www.teachitmaths.co.uk 2017



*

Maths Activity 2b - Converting units

1a. Complete the following statement.

3kg is equal to g.

¢

2a. Put these measurements in order fromr
smallest to largest.

' NS ™\
100cm 1.5m

. VAN J

. aY4 A
150mm 1.5cm

. J J

%

3a. Complete the missing operation and
measurement to convert between kg anc

g.

1.5kg

¢

4a. Find and correct the errors in these
conversions:

A. 150cm = 15m
B. 50m = 5,000cm
C. 25mm = 2.5cm
D. 1L = 100ml

¢

1a. Luke thinks that his horse ate the most
hay on Thursday.

2am 12pm 8pm
Mon 1.5kg 3,500g 2,300g
Tue 1,500g 0.5kg 3.5kg
Wed 2.5kg 3,3009g 2.5kg
Thu 1.5kg 3,500g 3,400g
Fri 2,650g 1,635¢g 4,015g

Do you agree? Explain why.

2a. Mike is practising converting different
units of measure.

He says,
| start off with a number of
. ml between 2,000 and
2 5 3,000. When converted to
litres, my amount has 1
Mike decimal place which is an

odd digit.

What could his starting millilitres have
been? Find 3 possibilities.

3a. Grace has filled in a table after

| converting from cm to m.

cm m
2,450cm 25.4m
3,240cm 34.2m
4,260cm 46.2m

Is her table correct? Explain why.

¢

@ Classroom Secrels Limited 2020
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5a. Complete the following statement.

2.52L is equal to ml.

46a. Put these measurements in order from
smallest to largest.

e N N )
1.5m 176cm 1,605mm
\_ VAN J J
I \ ' ™ ™
Tm 251cm 1.454mm
. VAN J J

’\""; 7
I~

4a. John thinks that his pet snail travelled
the farthest on Tuesday.

9am 12pm 3pm
Mon 5.01m 120cm 471cm
Tue 149cm | 1,300mm | 200cm
Wed | 355cm 1.25m 6,350mm
Thu | 2,340mm 1.05m 125cm
Fri 6.85Tm | 2,302mm 65cm

Do you agree? Explain why.

7a. Complete the missing operation and
measurement to convert between g and
kg.

539g

]
A
«Q

5a. Aelin is practising converting different
units of measure.

She says,

Aelin

| start off with a number of
grams. When converted to
kg, my amount has 2
decimal places and is
between 4kg and 4.1kg.

What could her starting grams have
been? Find 3 possibilities.

7

8a. Find and correct the errors in these
conversions:

A. 1,510m = 151km
B. 1.65kg = 1,650g
C. 72cm = 7.2mm
D. 7505mm = 7.505m

<>
e |
L~J
’ |

'\
) ) .\..
N

éa. Joey has filled in a table after
converting from ml to L.

ml L
24ml 0.042L
310mi 0.13L

1,820ml 1.28L

Is his table correct? Explain why.

® Classroom Secrels Limited 2020
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Y % %

9a. Complete the following statement.

26% of 1.23%kg is equal
to g.

10a. Put these measurements in order
from smallest to largest.

0.63cm

8,003mm || 307%0°f I g1 08em
1.46mm

A AN AN S

7a. Hannah thinks that her garden was
watered the most in Week 2.

Day 2 Day 4 Day 7
20% of
Wk 1 3.541L 4,058ml 31,025ml
Wk2| 24604ml 3,006ml 3,840ml
50% of
Wk 3 10.008L 1.090L 2.005L
Wk 4 | 2875ml 5,210ml 3,001 mi
Wk 5 658ml 3.047L 3.254L

Do you agree? Explain why.

11a. Complete the missing operation and
measurement to convert between m and
mm.

1.104m

mm

8a. James is practising converting
different units of measure.

He says,

| start off with a number of
metres. When converted to
km, my amount has 3
decimal places and is
between 601km and
601.1km.

James

What could his starting metres have
been? Find 3 possibilities.

12a. Find and correct the errors in these
conversions:

A. 563m = 0.563km
B. 23.56mm = 2,356cm
C. 548,000mm = 5,480m
D. 800.006cm = 8,000.06mm

C! ASSROOM

® Classroom Secrels Limited 2020

9a. Jack has filled in a table after
converting from m to km.

Ya m km
1,517m 3,034m 3.34km
1,003m 2,006m 2.06km

351m 702m 0.72km

Is his table correct? Explain why.
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Maths Activity 2c - Converting units

* Convert Metric Measures

1. Circle the incorrect conversions.

A. 2,500ml = 2.5L E. 15000 = 1.5kg
B. 50mm = 5cm F. 5.5L = 5,500ml
C. 1,000g = 10kg G. 40cm =  4,000mm
D. 2m = 200cm H. 25kg = 2,500g

2. Match the units of measure to the correct conversions.

r 6,500g 350mm
4,500ml | " 5,000m

| 35cm 6.5kg

L 51 . ast

ﬁﬁ v

3. Mike and Samara are converting 355mm into centimetres.

. | need to divide by

LA 100. The answer is
3.5cm.

Mike | need to divide by
10. The answer is
35.5cm.

Who is correct? Explain why.

CLASSROOM
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* * Convert Metric Measures

4. Circle the incorrect conversions.

A. 160cm = 16m E. 562g
B. 50.5m =  5,005cm F. 500m
C. 2,103g = 2.103kg C. 75mi
D. 1L = 100ml H. 5L

0.56kg
5km
7.5L

5,000ml

5. Match the units of length to the correct conversions.

f N

| 710cm ) L 7m )
| 700cm | . osm |
L 500mm | 71m

L 7,100cm J 5.02m

| so2em | 7.1m

6. Aelin and Rowan are converting 3.657L into millilitres.

s 3 The answer is
3,657ml.

Aelin

365.7ml.

The answer is

Who is correct? Explain why.

Rowan

CLASSROOM
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*** Convert Metric Measures

7. Circle the incorrect conversions.

A 37m =  370mm E. & of18.4cm =  1,550mm
B. --g- of 459mm = 1.53cm F. 106.02kg = 10,6209
C. 2.043L = 2,043ml G. 22%of 16.8L = 3,696ml
D. 14%of2.8kg =  3,920g H. 40,206g =  40.26kg
8. Match the units of capacity to the correct conversions.
25% of 2.5L 1,696ml
21.04L 106ml
3 \ ,
5 of4.24L | | 8,835ml
0.106L 625mi
15% of 58.9L 21,040ml

9. Rudie and Molly are converting 112.008m into millimetres.

The answer is
-’ 112,008mm.

Rudie

-0
-}

The answer is
1,1200.8mm.

Who is correct? Explain why.

15
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ANSWERS Maths Activity 2a - Ten in ten

1. What is the average
of 2.4 and 7.8? 5.1

2. 92 =34 + 47

3. x=3, y=>5
3y +2x = 21

4. 25% of 250 62.5

1
2

6. 63=216
7. What number is

halfway between —6 and
4? -1

1

5. What is 16

1
19
of8.

8. Write this number in
words 34,598 thirty-four
thousand, five hundred
and ninety-eight.

q. 604 -2 = 302

10. Complete the
sequence.

4.75, 5,5.25, 5.5, 5.75

11. Put these numbers

in order, largest first.
9.4, 9.256, 9.07

12. Eddie starts school
8:50am and finishes
school at quarter past
three. How long is the
school day? 6 hours and
25 minutes

13. How many months
are there in a decade?
120

14. Insert <, > or =

0.078 < 0.08

15. The Council raised
£2014 in 2012 and £1894
in 2013. How much did

they raise in total?
£3908

16
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ANSWERS Maths Activity 2b - Converting units

Varied Fluency Reasoning and Problem Solving
Convert Metric Measures Convert Metric Measures
Developing Developing
1a. 3,000g 1a. Luke is correct because his horse at

2a. 1.5cm: 150mm: 100cm. 1.5m 8.4kg of hay on Thursday, which is more

3a. x 1,000; 1,500 than any ofher day. le: 2,100ml
4a. A. 1500m = 1'5m’ D. 1L = 1’000m| d. Various answers, 1or exampile: <, m

(2.1L); 2,300ml (2.3L); 2,500ml (2.5L)
3a. Grace’s table is incorrect. She has

_LEZ gcstze(?ml mixed up two digits in the m column.
éa. 1.454mm: 251cm: Tm; 1.5m; 1,605mm; &m m
176cm 2,450cm 24.5m
7a.+ 1,000; 0.539 3,240cm | 32.4m
8a. A. 1,550m = 1.51km; C. 72cm = 720mm 4.260cm | 42.6m
Expected
Greater Depth 4a. John is incormrect because his pet snail
9a. 322.14g fravelled 11.15m on Wednesday, which is
10a. 50 % of 1 .46mr]n (0.73mm); 0.63cm; ;10'3 than any other flay. o a010
0.008m; 81.08cm; — of 10.4m (2.08m); a. Various answers, for example: 4,010g
8 003mm J ( ) (4.01kg); 4,020g (4.02kg); 4,030g (4.03kg)
‘|"|q x 1.000° 1.104 éa. Joey’s table is incorrect. He has mixed
12q. B. 23.56mm = 2.356cm; C. 548,000mm “P 'Wo digitsin the L column.
= 548m ml L
24ml 0.024L
310mI 0.31L
1,820ml 1.82L
Greater Depth

7a. Hannah is incorrect because her
garden received 13.804L of water in Week
1, which is more than any other week.

8a. Various answers, for example:
601,013m (601.013km); 601,014m
(601.014km); 601,015m (601.015km)

9a. Jack’s table is incorrect. He has found
a half of the measurements instead of a
qguarter and he has not included a zero as

a placeholder when converting.
Va m km

758.5m 3,034m 3.034km

501.5m 2,006m | 2.006km

175.5m 702m 0.702km
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ANSWERS Maths Activity 2c - Converting units

Convert Metric Measures

Developing

1. C.(1kg), E. (15kg), G. (400mm), H (25,000g)

2, [ 6,500g 350mm ]
[ 4,500ml 5,000ml J
[ 3sem s5kg |

[ 5L 4.5L ]

3. Samara is correct becavuse to convert mm to cm, you need to divide by 10.

355+ 10=35.5
Expected
4. A. (1.6m), B. (5,050cm), D. (1,000ml), E. (0.562kg), F. (0.5km), G. (0.075ml)
5-[ 710em 7m
[ 700cm 0.5m |
[ 500mm 7im |
[ 7.100em 5.02m ]
[ 502cm 7.1m ]

6. Aelinis correct because to convert L to ml, you need to multiply by 1,000.
3.657 x 1,000 = 3,657

Greater Depth
7. A. (37,000mm), B. (15.3cm), D. (392g), E. (155mm), F. (106,020g), H. (40.206kg)

B"[ 25% of 2.5L 1,6%6ml ]
o )
(o =
[ oa0s 625ml |
[ 15% of 5851 21,040ml |

9. Rudie is correct because to convert m to mm, you need to multiply by 1,000.
112.008 x 1,000 = 112,008

18
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PSHE Activity 4 - Beano Bouncebackability

Watch this video clip at
https://www.youtube.com/watch?time c
ontinue=3&v=uY33NDKTLTk.

Remember to ask your parent's
permission first of all.

Using everything that you have now learnt about bouncebackability,
create your own cartoon strip explaining what it is or showing a
scenario where bouncebackability is used to overcome a problem.
You can create your own characters and setting.

There are various blank cartoon story boards or you could draw your
own.
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